Exponents and Surds
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3
16 | (a) % or 0.125p° 1,1 | Independent marks for letter and no.
(b) %q_l 1,1 Independent marks for letter and no.
Allow 1l g or E
8 8q
5 2'° 2 M1 2° or 2 * seen
|6 |x+8 |2 | M13® seen
4 ‘ 0.9° 0.9 409 309 ‘ 2 ‘ M1 0.94(8683...) 0.96(5489....) 0.8(1) 0.7(29)
14 | (a) 10(.0) 1
1
(b) 2;,2.5(0) 2 | M12n-3=2
16 | (a) 4. 2 |B1 4 B1x
9 9
(b) 2y 2 |B12 Bl y’
3 ‘ 48 ‘ 2 ‘ B1 for 3 and 16 seen
4 (a) 10 ‘ 1
(b) 5.5 0e 1
17 24 n k 24 -
(@) 4x " or — 2 B1 4x" B1 — - or kx ™ for any numerical k, n
X X
® 5 2N\ Na\ AN s (22
16 k 16 4
18 (a) 27x° 2 B1 ix’ or 27x”
(b) 25x* 2 | Bl kx* or25x”
3 (a) 6.25 cao 1
(b) 0.16 cao 1
11 (a) -3 2 | M11/2° or2”
() 1.5 2 | M12%o0r6n=9
4 16 a0 2 | Bl for o1 ,i,ﬁ or (2/3)* seen
81 16 81 k
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11
7 9’2 M1 | Both fractions seen
[1 1 ] 4 N 9 13 E1 | Both fractions over a common denominator and
—_—t = —t—="
9 4 )36 36 36 added to give 3
36
8 ‘ 9 ‘ 2 ‘ M1 125=5
14 (a) 64p°q° 2 | B164p°q" or kp’q°
(b) 0.5x 26\ 8 2 MLB1 —— oSor NN
' 2x? 2x" foc?
14 3 1 2 9 1 3 1
a == =\ B2p=— andg= —orBlp= — —
@ p=2 4= QAR Py 975
3, c-4
(b) k=6 2 M1 for a correct statement for k e.g. - or for
the factorisation 5~ (5 + 1) =k x 5 or
NN
625° t V7 625
10 | Correct working seen 2 | M1 for correct step M1 for correct step
11 | 4w™ 2 | B1 for 4w" or kw®
11 3x* 2 | Bl for kx* or 3x*
5
a) — oe 1
13 | 1
®) 4° 2 B1 for ky* or y° or 4)* or 4 as final answer
14 | (a) 8g'or 8 2 B1 for 84" or kq ™'
q
(b) 1/50r0.2 2 | Ml for572 5% or [0].04 seen oe
5 05° 052 05 305 2 | Blfor0.25, 0.125and 0.793... seen
or for three in correct order
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") - L o v — g -

16 @ |8 2 | Blfor 22 0r409
3 3
(b) 2q2 3 B2 for kq? as the answer
or
1
B1 for 2¢° and Bl for g2 oe nfww
17 @@ |57 2 B1 for 5/ or mt” (m+#0)
(b) |2 1
(c) |64 1
6 3x°y* 2 B1 for x° or y* in a product on answer line
11 (a) x° 1
x2 k
(b) ? 2 B1 for answer kx’ or RN %
7 24u%w? final answer 2 B1 for 2 correct elements in final answer
1
3 — or 0.25 1
4
16 a) (i 1 1
@0 0.50r—0.50r—or—l
2 2
(i) |4 1
(b) 1.37 or 1.37[4...] 1
13  (a) 4x° final answer 2 B1 for answer kx’ or 4x* (k #0)
(b) 2y°* final answer 2 B1 for answer ky** or 2y*(k #0)
10 (a) 625 1
(b) 9 1
17 X6 3 B2 for fraction as final answer with two of x'°, 2, y*
2 final answer correct and in correct position
Y or B1 for fraction as final answer with one of x'¢, 2, y4
correct and in correct position
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21 (a) () |1
(i) | m’
i) | 2p° SC1 for 2p* or kp® k#0
2 1 2
(b) 5 or 0.4 B1 for 3° or 3°* or 2435 or 2435 seen
14 (a) x*y” final answer 2 B1 for answer x*y* or x*y” (k#0)
(b) 27 p6m15 final answer 2 B1 for 2 correct of 27, p(’, m"” ina product
as answer
1 2 2 1 k
6 gx or 0.125x" final answer 2 B1 for answer gx or nx>
7 8x° final answer ‘ 2 ‘ B1 for 8x* or cx®
10 6x® final answer 2 B1 for 6x*, 6xx* or kx®(k# 0) as final
answer
2 n’ final answer 1
9 =7 2 | B1 for 3~ or 3* or 37 or3”7seen

or SC1 for final answer 7
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